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Eng. Math II (0301302)

The University of Jordan
Department of Mathematics \

Second Ex -00-3:00
Name: Number: § 4R
\
Instructor: ;&hmc WP =i, [ Section and Time: w Weeo to 11130
i = 2.9
Q1. (5 points) Using the Divergence Theorem, evaluate IIs F . dA, where F= {p,2?,5*)
and S is the surface of the cone 22 + % < 2%,0< 2 < 2. CQ
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7. r'ds, where F=(= H’I)

9. (5 points) Using Stokes’s Theorem, evaluate 950
L}n_(l E ils |1}I:t I) nni];*lr\ :,)llr\( around the triangle with vertices (0,0,0), (1, % }_,[ s 1,0).
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o .
") (3. (a) (5 points) Show that the Fourier of /(=)= { ﬂi -2<z<0

0<z<?2 .
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(b) (2 points) Find $2, S5
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Q4. (5 points) Show that

S s mzf2, 0<z<l1
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Q5. (3 points) Find the Inurur ‘3mo 'Ihm[urm of f(z) = zsinz? You can use some of the following
results: —_—

Fe(f"(z) = ~wdF.(f (2)) — /2 (0),
(f'(z)) = wF, (f (z)) = \/ 2/ (0),

Fo (f'(2)) = ~wFc (f (2))
Fe (sinz?) 7— cos (‘%— + 1—')
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